Maths Homework - Year 3 (Due Wednesday 11t March)

This week we have been looking at scaling

Challenge. 3

Challenge. 1
1. Which of these calculations cannot be solved using fhe bar model below?
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2. Susan is ksaming aboul scaling numbers.
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Challenge. 2
4. Which of these calculations cannot be solved using fhe bar model below?
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§. Greyg is leamning aboul scaling numbers.
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|z Greg comect?
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7. Complele the number senfences so B is fhe odd one out.
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Who iz cormeci? Explain your reasoning.
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Is Susan comeci?
3. Abby and Luca are discussing fhe bar model below.
Thiz bar moded shows This bar model shows
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4. Maork and Carol are discussing fhe bar model below.
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Who is cormeci? Explain your reasoning.
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B. Peter is thinking aboul how o scale numbers.

| think that if @ number is being scaled by 4,
you always multiply the number by 4.
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Is Peter comecl? Give I examples.

¥ Doug and Carber ane bath discussing fhe: number 48,

P65 12 times P46 is 7 times
as many as as many as e
O 8. 8. Ty
Fe N PR
Dowg Carler

Who iz comeci? Drow bar modek to prove your answer.




